Agrometer a/s

Feelledvej 10 » 7200 Grindsted
TIf. 76 72 13 00 » Fax 76 72 13 98
www.agrometer.dk ¢ agrometer @ agrometer.dk




CENTRIFUGAL PUMPS

2CD

CONTENTS 50 Hz
Rev E
Page
- CONTENTS 100
- SPECIFICATIONS 200
SELECTION CHARTS 201
PERFORMANCE CHART 2CD70 202
PERFORMANCE CHART 2CD120 203
- CONSTRUCTIONS 300
SECTIONAL VIEW 300
MECHANICAL SEAL 301
SINGLE PHASE DIAGRAM AND ELECTRIC CONNECTIONS 302
THREE PHASE DIAGRAM AND ELECTRIC CONNECTIONS 303
- DIMENSINS 400
PACKING AND WEIGHT 401
- TECHNICAL DATA 500
100

5 ESARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

2CD

SPECIFICATIONS 50 Hz
Rev E
PUMP

Type of liquid Clean water
Hgg:ﬁe q Max temperature [°C] ?(1)0 (2CDH)

Min temperature [°C] -10
Maximum working pressure [MPa] (0.8

Impeller Closed centrifugal type (Twin)
Construction | Shaft seal type Mechanical seal

Bearing Sealed ball bearing
Pipe Suction G1%
Connection | Discharge G1

Casing AIS] 304

Impeller AISI 304

Casing cover AISI 304

Ceramic/Carbon/NBR (2CD)
Material Shaft seal Ceramic/Carbon/FPM (2CDH)
SiC/SiC/FPM (2CDHS)

Shaft AISI 304 (Wet extension)

Bracket AISI 304

Diffuser AISI 304
Applicable standard of test ISO 9906 — Annex A

MOTOR
Type Electric - TEFC
Single Phase | Three Phase
No. of Poles 2
Rotation speed [min™] ~ 2800
Insulation Class Class F
Protection degree IP 55
Power rating [kW] 0.75+1.5
[HP] 1+2

Frequency [HZ] 50
Voltage [V] 230 +10% 230/400 £10%
Capacitor Built in -
Over load protection Built in Provided by the user
Casing material AISI 304
Base material/motor support AISI 304
Dimensions of cable entry PG 11

200

= EaArA

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

SPECIFICATIONS 50 Hz
Rev E
U.S.g.p.m. 10 15 20 30 40 50 60
| l l | l L
| | | T | I
Imp.g.p.m. 10 15 20 30 40 50
= - 250 E
I I
60 <sman — 200
50 {79/20 T~
Nyl N~——
i 70/15T ™~ a ‘\7\7 i —150
4 70177 20207
2 [ = S SSSh SSY S
I 30 ‘\“ —100
- i
<C |
— J
o J
= ' 75
J
20 L
15 20 30 40 50 60 80 100 120 150 200 250
Q [I/min]
Tvoe DUMDbS Power Q=Capacity
ype pump Umin 20 | 40 | 60 | 80 | 120 | 150
. [kW] [HP] |m3%h 12| 24 | 36 48 72 9
Single Phase | Three Phase H=Total manometric head in meters
2CDM 70/10 | 2CD 70/10 0.75 1 38.5|35.3|31.5| 27 - -
2CDM 70/12 | 2CD 70/12 0.9 1.2 44.5|40.3|35.5| 30 - -
2CDM 70/15| 2CD 70/15 1.1 1.5 52.5| 48 |42.8| 36.5 - -
2CDM 70/20 | 2CD 70/20 1.5 2 60 | 55.6|504 | 44 - -
2CDM 120/15| 2CD 120/15 1.1 1.5 - 42 41 1395 35 30
2CDM 120/20| 2CD 120/20 1.5 2 - 1515495474418 36.5
TYPE KEY:
2D | |H]| [M] [120]/[ 15 ]
| |
i i 10
. . POWER CODE 12
o 1
| | 20
! ! HYDRAULIC CODE 70
! I 120
| |
i |__ONLY FOR SINGLE PHASE
I OPTIONALVERSIONCODE _ H
HS
MODEL
201

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

2CD

2CD 70 PERFORMANCE CURVES 50 Hz
Rev E
2CD 70/10 (0.75 kW) Impeller diameter = 132/132
2CD 70/12 (0.90 kW) Impeller diameter = 153/132
2CD 70/15 (1.10 kW) Impeller diameter = 153/153
2CD 70/20 (1.50 kW) Impeller diameter = 153/176
0 USgpm. 5 10 15 20 25
| ] ] ] ] ]
(I) Imp.g.p.m. 1!3 1|0 1|5 2|0
IE' 80 =
— 250 —
T ju
70
60 T == = - 200
50 = T— m = T—
10— — ] — Pt
= < ] ~ 70/15
<o( — . — ] [
4 30 == = 70/12] R[Em]NFE?t"]' 100
= 70/10
g 5 B / 2518
=20 — = 20 .
154 |50
-4
10 1.0
NP il
0 1] 0
0 10 20 30 40 50 60 70 80 90  Q[l/min]
[ I I I I I 1
0 1 2 3 4 5 Q [m3/h]
— 2.00 —
= 70/20
~ 70/15
¥ 100 70/12
= 70/10
L ——
& 9 [T
0 10 20 30 40 50 60 70 80 90  Q[l/min]
S = —=—— 70/10
- R = —— — e == 70/12
30 = = 70/15
% 70/20
& 2
=2 !
[ |
10 —
0 10 20 30 40 50 60 70 80 90  Q[l/min]
Rotation speed: ~2800 min™'
Test fluid: clean water at 20°C
Applicable standard of test: ISO 9906 - Annex A
202

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 2CD

2CD 120 PERFORMANCE CURVES 50 Hz

Rev E

2CD 120/15 (1.10 kW) Impeller diameter = 132/132
2CD 120/20 (1.50 kW) Impeller diameter = 157/132

0 US.gp.m. 10 20 30 40 50
| | | | | |
| | | | |
0 Imp.g.p.m. 10 20 30 40
IE! 80 =
— 250 —
I I
70
60 200
[ — ~atr
50 = ——
L e ——] 150
T—
40 -~ ~<_
— 120/20
< ~1_ T
£ % 120/15 —100
2 RE. NPSH
5 [m] [ft]
'_
20 — 404 .,
3.0 50
- 8
10 — = 2.0
NPSH 104
0 - 0
0 20 40 60 80 100 120 140 160 180  Q [I/min]
[ [ [ [ [ [ [ [ [ [ [ 1
0 1 3 4 5 6 7 8 9 10 1 Q[m3h]
= 3.00
=5, 2.50
& 20 120/20
& 1.50 120/15
% 1.00 —
¥ 0.50
0 20 40 60 80 100 120 140 160 180  Q [I/min]
60
5 ] [120/15
-
— 50 T 120/20
—
> 40 =
]
o 0
L
b 20
0 20 40 60 80 100 120 140 160 180  Q [I/min]
Rotation speed: =2800 min™
Test fluid: clean water at 20°C
Applicable standard of test: ISO 9906 - Annex A
203

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS ZCD

SECTIONAL VIEW 50 Hz

Rev E

102 9 27 103 72 79 200 31 3 22 6 12 36 13 14 17 23 110 56 15

1 |
75
77 =
24 == I+

8

H““l II|||H
73
32 Al L1, “I" "|||
WEIED - rimcemmn -
i il
e R
|
25 | [
78
| | ( |
105 7 4 11 26 1 18 19 20 21

N° PART NAME MATERIAL Q.TY| N° PART NAME MATERIAL Q.TY
1 |Casing AlSI 304 1 26 |O-ring [3] NBR 1
3 |Motor bracket AISI| 304 1 27 |O-ring [3] NBR 1
4 |Casing cover AlSI 304 1 31 |Thrust flange AISI 304 1
6 |Shaft with rotor AISI| 304 (Part in contact with liquid) 1 32 |Key AlSI| 304 2
7 |Impeller AISI 304 1 34 |Impeller nut AISI 304 1
8 |Impeller AlSI| 304 1 36 |External motor casing |AlSI 304 1
9 |Diffuser AISI 304 1 56 |Box gasket NBR 1
11 [Mechanical seal [3] Ceramic/Carbon/NBR 1 58 |Cable entry - 1
12 | Motor frame with stator - 1 72 |Casing ring [3] NBR 1
13 |Motor cover Aluminium 1 73 |Casing ring [3] NBR 1
14 |Fan Polypropilene 1 75 |Washer AISI 304 1
15 |Fan cover AISI 304 1 76 |Washer AISI 304 1
16 | Terminal box - 1 77 |O-ring [3] NBR 1
17 | Terminal box cover [2] Polyamide 1 78 |O-ring [3] NBR 1
18 | V seal ring NBR 1 79 |Space diffuser AISI 304 1
19 [Pump side ball bearing - 1 93 |Lip seal - 1
20 |Fan side ball bearing - 1 102 | Suction cover AISI 304 1
21 |Adjusting ring Steel C70 1 103 |Conveyor cover AlSI| 304 1
22 |Tie rod Fe 42 Zinked 4 105 |Sleeve AlSI 304 1
23 |Capacitor [1] - 1 110 |Protector [1] - 1
24 | Priming plug AISI 303 1 200 |Screw Stainless steel A2 UNI7323 8
25 |Drain plug AIS| 303 1 - | - - -

[1]1 Only for single phase
[2] Only for three phase
[3] FPM for 2CDH and 2CDHS

300

% E2ARA EBARA PUMPS EUROPE S.p.A.



2CD

CENTRIFUGAL PUMPS
MECHANICAL SEAL 50 Hz
Rev E
- E D G A B C
af
@
Ol ©
) N
)
Y o
29
MATERIAL
REF PART NAME Standard version Optional
(2CD) (2CDH) (2CDHS)
A Rotary seal ring Ceramic Ceramic Silicon carbide
B | Stationary seal ring | Carbon graphite | Carbon graphite| Silicon carbide
C O Ring NBR FPM FPM
D O Ring NBR FPM FPM
E O Ring NBR FPM FPM
F | Self driving spring AISI 316 AISI 316 AISI 316
G Frame AISI 304 AISI 304 AlISI 316

= EaArA

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS ZCD

SINGLE PHASE DIAGRAM AND ELECTRIC CONNECTIONS 50 Hz

Rev E

FOR MOTORS WITH LOCKED ROTOR CURRENT  FOR MOTORS WITH LOCKED ROTOR CURRENT

UP TO 25 [A] OVER 25 [A]
INTERNAL MOTORPROTECTOR EXTERNAL MOTORPROTECTOR

MOTOR 1~ MOTOR 1~

MAIN WINDING

900

AUX WINDING MAIN_WINDING

AUX WINDING

Motor _m\_.
Protector

PE PE MOTORPROTECTOR
OPERATING OPERATING

CAPACITOR Vs CAPACITOR w
a
:J_ O :J_ 2 U
U1 W T Urov

PUMP MOTORPROTECTOR
INTERNAL | EXTERNAL
2CDM 70/10 X
2CDM 70/12 X
2CDM 70/15
2CDM 70/20
2CDM 120/15
2CDM 120/20

X | X | X | X

302

5 ESARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

2CD

THREE PHASE DIAGRAM AND ELECTRIC CONNECTIONS 50 Hz

STAR CONNECTION (400 V)

A ON
1 vi 1
v Wi 4 <
L1 \L2 \L.'S
MOTOR 3~

Rev E

DELTA CONNECTION (230 V)

o ON —
/ u2 u1 D}
w2 w1
YA
MOTOR 3~
303

B E3ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS ZCD

DIMENSIONS 50 Hz

Rev E

A

——

H1
2=

Pump type Dimensions [mm]
2CDM-2CD A B H | H1 | H2 L M| M1|{ N[Nl | R|W
(1] [2] (1] [2] (1] [2]

70/10 206| 210| 363| 363| 229| 106| 123| 102| 106| 100| 130| 120| 150| 164| 93
70/12 206| 206| 363| 363| 229| 106| 123| 102| 102| 100| 130| 120| 150| 164| 93
70/15 226| 226| 393| 375| 229| 106| 123| 110 110{ 120| 150| 140| 170| 170| 95
70/20 214|214| 393| 393| 229| 106| 123| 110 110{ 120| 150| 140| 170| 170| 95
120/15 214|214| 393| 375| 229| 106| 123| 110 110{ 120| 150| 140| 170| 170| 95
120/20 214 | 214| 393| 393| 229| 106] 123| 110 110{ 120| 150, 140| 170| 166| 95

[11 THREE PHASE MODEL
[2] SINGLE PHASE MODEL

400

5 ESARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS ZCD

PACKING AND WEIGHT 50 Hz
Rev E
|
>_
] By
/
Type pumps PACKING [mm] WEIGHT [kg]
Single Phase Three Phase X Y Z Single Phase | Three Phase
2CDM 70/10| 2CD 70/10 245 260 400 14 14
2CDM 70/12| 2CD 70/12 245 260 400 14.7 14.7
2CDM 70/15| 2CD 70/15 245 280 400 17.8 17.8
2CDM 70/20| 2CD 70/20 245 285 400 19.8 18.8
2CDM120/15 | 2CD 120/15 245 285 400 16.1 15.8
2CDM 120/20 | 2CD 120/20 245 260 400 17.8 17.5
401

5 ESARA EBARA PUMPS EUROPE S.p.A.



2CD

50 Hz

Rev E

CENTRIFUGAL PUMPS

TECNICHAL DATA

Type pumps Power Locked rotor current | Capacitor | Input power | Full load current
Single Phase | Three Phase | [kW] [[HP]|Single Phase| Three Phase [Single Phase [kW] [A]
230V 230/400 V 230V 230V |400 V| [uF] |Vc [V]|Single | Three | Single | Three Phase
50 Hz 50 Hz 50 Hz 50 Hz | 50 Hz Phase|Phase|Phase|230 V|400 V
2CDM 70/10| 2CD 70/10 |0.75| 1 22.7 2411139 | 20 | 450 | 125 | 118 | 58 | 40 | 23
2CDM 70/12| 2CD 70/12 | 0.9 | 1.2 25.5 282 | 16.3 | 315]| 450 | 15 1.5 70 [ 50| 29
2CDM 70/15| 2CD 70/15 | 1.1 |15 39 294 | 17 35 | 450 | 1.8 | 164 | 8.1 56 [ 3.3
2CDM 70/20| 2CD 70/20 | 15| 2 43 45 26 40 | 450 | 2.3 22 | 10.0 | 7.0 | 4.0
2CDM 120/15| 2CD 120/15 | 1.1 | 1.5 39 294 | 17 35 | 450 | 1.8 1.7 83 [ 56 | 33
2CDM 120/20| 2CD 120/20 | 1.5 | 2 43 45 26 40 | 450 | 235 | 22 | 102 | 70 | 40
Type pumps Ball Bearing
Single Phase | Three Phase
230V 230/400V | Pump side | Fan side
50 Hz 50 Hz
2CDM 70/10 | 2CD 70/10 | 6203 ZZ | 6202 ZZ
2CDM 7012 | 2CD 70/12 | 6203 ZZ | 6202 ZZ
2CDM 70/15| 2CD 70/15 | 6204 ZZ | 6203 ZZ
2CDM 70/20 | 2CD 70/20 | 6204 Z2Z | 6203 ZZ
2CDM 120/15| 2CD 120/15 | 6204 ZZ | 6203 ZZ
2CDM 120/20| 2CD 120/20 | 6204 ZZ | 6203 ZZ
500

B E3ARA

EBARA PUMPS EUROPE S.p.A.



